NT3015 1615303

2019(0dd)

Time : 3Hrs. Sem - I1I- C/C(R)
Building Const.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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(1) wa @ fafy= 3 & ford vad awsmy | (ii)
(@) TRaToT U9 Rasdl @ diEe & (s W0
o TR s A= Mm@ AW fod |

(a) Give a list of different types of doors and
windows.
(b) Explain with neat sketch the construction of (iii)

flush doors.
6

@) faf=1 yoR @ <xaron vd Rasfear o
A uxgd N |
(@) Frer SRareT & o B te waes fam
| |9y |
(iif)
OR(3721d1)

(a) What are the advantages of steel roofs over
wooden roofs ?
(b) Write in details the measures adopted in the
preparation of a surface for plastering.
(iv)
(31) IS DI BAl & hlEd WA DI BaAl
D R A B ?
(@) WX B 9dg & dIN) 8] AaTD
Sural &) fored |

3 1615303

ATl 911 & ford Suygaa g grar 27
(31) ssgifas g1
@) #er AT

(|) ®elt T

() 39 9 BIg &

Which of the following is considered as
defects in timber ?

(a) Annual rings

(b) Knots

(c) Medullary rays

(d) Bark

= 4 9 fea ARl aa<Sl @1 <y
AT ST 87

(31) arfdie aa™

@) s

(@) Agedt X9

(]) B1a

The percentage of carbon in steel is
(a) 0.1t0 0.2%

(b) 1to 3%

(c)2to 4%

(d) 0.15 to 1.5%
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(31) TP 38 ST DI YAl & WHCH HT © ?
3T FAT-T & ?

@) uTEfd® 9ef & SR B J I
gl 3 ford |

OR (312r1an)

(a) Enumerate the properties and uses of asphalt.
(b) What are usual tests for mortar ? Explain any
one test.

(31) IwIee & I ¢ gAN &l fod |
(@) 79T & URERS Siia /&1 8 ? fed
Uh Siid ®l FHsy |

(a) Explain briefly any six properties of plastics.
(b) Enumerate the measures that may be adopted to
check leakage of water through cofferdams ?

6
(@) wiRc® & a2l B8 oIl &SI G849 §
I |
(@) »iHxX dfen Ay & RAra 1 Ada @
foq smazae Surl @1 ford |

NT3015

(vi)

(vii)

(vii)

(viii)
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yafera e sl g &1 =gaaq
Arers gidl 27

(31) 120 fAo*io

(@) 150 fAoHlo

(&) 180 fHoHlo

() 3 9 BIg 78

The process of providing support to soil
while excavating is known as.

(a) Sheeting

(b) Waling

(c) Bracing

(d) Timbering

Galy & IR &l Bl GeRT a4 3l
fafer sgard 2|

(a1) Rrfewr

(@) arfar

(\) s

(2) fewafiar

The long thick wooden sheets or planks with
iron shoe at the end are called.

(a) Rammers

(b) Struts

(c) Runners

(d) None of these
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OR (3121an)

What are the general principles of termite proofing ?

Ao uforie & 9= figra w1 @ 2

Differentiate between English and Flemish bond.

4
SIfeTeT AT wfer ard # IR e oW |

OR(3721dT)

Describe any two types of rubble masonary with

neat sketches.

oo fa= 4 fH=l 3 YPR & 9 A8
BT qofa BN |

Write a short note on lead and lift.

ofis tqd fowe W} ta Gféra fewofi forg |
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(xii)

7 1615303

Yelffier ara &1 fAwior s guferer ara
DY AT H BIdT 2 |

(31) ®u

C)EIEED

(|) sXrex

() 3 9 3Ig 781

Cavity walls are made up of two walls. The
two walls are called as.

(a) Dwarf wall

(b) Partition wall

(c) Leaves

(d) Common wall

GEell AR T aRT 9 949 8id 2 |
J Tl SI9R $HEerd 87?7

(31) saw dER

(@) favoie daR

(4) ofred

(]) &9 dlaR

Dormer windows are provided in the
(a) Sloping roof

(b) Flat roof

(c) Wall openings

(d) None of these
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Answer all

() 37 4 »Ig &

GROUPB

Five Questions.

gl ufg gz & SN o |

2. What are artificial stones ?? Write their different

forms.
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4x5=20
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(xiv)

(xv)

(xv)

(xvi)
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e @ fafi=1 dacal #1 fa™ a1
fafer &1 sea 87

(31) sfar

@) afew

(@) AT

(?) w@feT

Underpinning is a method of strengthening
(a) Walls

(b) Columns

(c) Beams

(d) Foundation

A roof having slope in all four directions is
(a) Shed roof

(b) Gable roof

(c) Hipped roof

(d) None of these
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